Skogs BK

Barometer 2019-12-05

Partavling, 5 bord, 10 par. Antal brickor: 27. Medel: 108.0.

Plac Par Poang % Namn MID Klubb
1 8 140 64.81  UIf Eriksson - Olle Andersson 14071 26491  Skogs BK
2 9 138 63.89  Per-Arne Lindstrom - Mikael Melander 3485 13137  Skogs BK
3 5 127 58.80  Torsten Victorin - Rolf Bystrom 57031 3459 Sollefted BK
4 10 120 55.56  Bo Gullefors - Staffan Strindlund 36345 3486  Sollefted BK - Skogs BK
5 2 115 53.24  Nils-Erik Ostman - Tommy Sj6lund 12388 63184  Skogs BK
6 7 111 51.39  Hans Olofsson - Asa Waliin 20860 84926  Skogs BK
7 4 109 50.46  Ann Lidfors - Jerry M&hler 13773 12554  Sollefted BK
8 3 98 45.37  Harry Lundin - Jarl Lofstrand 8275 37156  Skogs BK
9 6 74 34.26  Marja Ritzén - Birgitta Edvall 31389 57030  Sollefted BK
10 1 48 22.22  Roland Eriksson - Jan-Uno Norlén 86772 65492  Skogs BK
1 &« DKn4 Bésta kontrakt 2 s E4 Bésta kontrakt 3 # EK109832 Bésta kontrakt
Nord v EK96 4v N =420 Ost v K74 34 S =140 Syd v5 64 S =980
Ingen + E53 NS + Kn864 ov + K9
*E75 & ¢ v & NT #DKn102 & ¢ v & NT #Kn108 & ¢ v & NT
4 E98 » K7652 N 109 108 9 4 K965 473 N9 69 9 8 a- » Kn64 N 6 5 8 1210
vDKn10 v843 S 109 108 9 vEKn2 v1063 S969 938 vK632 vKnl04 S 6 6 8 1211
+Kn72  + D86 033353 ¢E109 ¢ KD732 036445 +Kn862 ¢E754 077512
#9632 #Kn8 V33353 #765  #943 V36445 #KD765 #943 V77512
4103 4 DKn1082 4 D75
v 752 v D985 v ED987
+ K1094 +5 + D103
#KD104 #EK8 »E2
Par  Kontr Ut Res  Poang Par  Kontr Ut Res  Poéang Par  Kontr Ut Res  Poéang
8 3 3NS+2 vQ 460 7.0 1.0 101 3¢DO-3 «Q 500 8.0 0.0 8 3 44 N+2 v] 480 8.0 0.0
10 1 3NS+2 48 460 7.0 1.0 47 24 S+1 »7 140 5.0 3.0 4 7 44 N+1 v] 450 40 40
4 7 3NN+1 42 430 3.0 5.0 8 3 24 S+1 *7 140 5.0 3.0 9 2 44 N+1 «9 450 40 4.0
9 2 3NN+1 v3 430 3.0 5.0 6 5 2NN-1 +3 -100 1.0 7.0 10 1 44 N+1 «9 450 40 4.0
6 5 3NN= vQ 400 0.0 8.0 92 3NN-1 +K -100 1.0 7.0 6 5 44 N= *9 420 0.0 8.0
4 & EKn Bésta kontrakt 5 4987 Bésta kontrakt 6 4 D8762 Bésta kontrakt
Vast vK 2NTV =-120 Nord v 753 4¢ N =130 Ost vED63 64 S =980
Alla 498543 NS + DKn84 ov +D
#E10832 & ¢ v & NT #EKKn & ¢ v & NT #DKn5 & ¢ v & NT
47643 «KD10 N6 6555 # EKKn106 4 D543 N 5 109 5 8 454 4 K10 N 107 9 127
v7532 vE964 S 6 6 555 v K108 v D96 S 5 109 5 8 v 542 v 10987 S 107 9 127
¢E10 ¢ KKn2 O7 7 8838 +10 ¢52 07 2 483 ¢ K54 ¢EKn10873 O 2 6 0 0 O
#DKn7 #K94 V778838 «D842 #9653 V72483 #107642 %8 V26000
49852 a2 4 EKn93
v DKn108 v EKn42 v KKn
+ D76 + EK9763 + 962
#65 «107 #EK93
Par  Kontr ut Res  Poang Par  Kontr ut Res  Poang Par  Kontr ut Res  Poang
58 3v0-2 vQ 200 8.0 0.0 9 4 5¢ S= A 600 8.0 0.0 7 6 64 N= ¢A 980 8.0 0.0
102 3v V-1 +9 100 6.0 2.0 10 2 54DV-3 #A 500 6.0 2.0 9 4 44 S+3 +4 510 5.0 3.0
76 INO+1 vQ -120 3.0 5.0 7 6 4¢ N+1 43 150 40 4.0 10 2 54 S+2 »6 510 5.0 3.0
94 INO+1 vQ -120 3.0 5.0 13 3¢S+1 A 130 2.0 6.0 58 44 S+2 ¢4 480 2.0 6.0
13 2NV+1 &5 -150 0.0 8.0 58 3+4V-1 *K 50 0.0 8.0 13 3NS-1 *2 -50 0.0 8.0
7 4104 Basta kontrakt 8 4« E9764 Basta kontrakt 9 4 Kn3 Basta kontrakt
Syd v EKn932 5NT S =660 Vast v 864 ANT V =-430 Nord vE98 34 O =-140
Alla +93 Ingen +E8 ov + D83
#EKD10 & ¢ v & NT #1076 & ¢ v & NT #Kn8643 & ¢ v & NT
4Kn9872 4D6 N 118 118 11 4KD10 4 Kn832 N36543 4K9762 &E54 N7 6536
v 107 v 64 S 118 118 11 vDKn95 vE3 S 36543 v 107652 vD3 S76536
+ K6 ¢EKN8754 0O 2 51 5 2 +10762 ¢ K9 087 89 10 ¢+ Kn ¢+ E10764 06 7897
#Kn972 4853 V25152 »82 #EKD53 vV 87 89 10 *E2 *K97 V67897
& EK53 a5 « D108
v KD85 v K1072 v KKn4
+ D102 + DKn543 + K952
*64 +Kn94 #D105
Par  Kontr ut Res  Poang Par  Kontr ut Res  Poang Par  Kontr ut Res  Poang
24 4v S+l +K 650 5.0 3.0 69 3NO= +Q -400 8.0 0.0 10 3 2¢ O-1 2 100 8.0 0.0
6 9 4v N+1 v6 650 5.0 3.0 15 3NV+1 ¢ A -430 4.0 4.0 2 4 24 V+1 s] -140 6.0 2.0
8 7 4v N+1 ¢+A 650 5.0 3.0 24 3NV +1 Ly -430 4.0 4.0 15 3+4V+1 *3 -170 3.0 5.0
10 3 4v S+1 49 650 5.0 3.0 10 3 3NV +1 *7 -430 4.0 4.0 8 7 34 V+1 *4 -170 3.0 5.0
15 4¢vN= v4 620 0.0 8.0 8 7 3NV +2 &T -460 0.0 8.0 6 9 44 V= *4 -620 0.0 8.0

Skogs BK, Barometer 2019-12-05, sida 1 av 3




10 oD Basta kontrakt 11 4975 Basta kontrakt 12 4 E853 Basta kontrakt
Ost v D652 4v O =-620 Syd v 6542 5¢v O =-450 Vast v KDKn 3NT N =600
Alla + EKKn1082 Ingen + K1064 NS ¢E2
*K9 & ¢ v & NT «Kn10 & ¢ v & NT #E1073 & ¢ v & NT
» Kn1095 » EK4 N38347 a2 « EKn103 N2 4262 & K42 » 1076 N8 89 909
vEKn10984 v3 S$38347 vEKD109 v87 S 2426 2 vE54 v 982 S$889 99
+ D7 +64 09 4 108 6 ¢ EKn3 ¢ D52 O 119 117 10 ¢ 107 ¢ K9853 054 4 44
+10 #EKNn86432 V 9 4 108 6 #E843 *D972 VvV 118 107 10 #K9862 #DKn V55444
487632 « KD864 « DKn9
v K7 vKn3 v 10763
4953 4987 + DKn64
»D75 *K65 #54
Par  Kontr ut Res  Poang Par  Kontr ut Res  Poang Par  Kontr ut Res  Poang
26 3vV-1 ¢+A 100 7.0 1.0 71 3vV= *] -140 8.0 0.0 98 24DV-2 vK 300 8.0 0.0
71 3vV-1 ¢+A 100 7.0 1.0 26 38V+2 49 -150 6.0 2.0 26 INN+2 +5 150 6.0 2.0
10 4 3v V= ¢ A -140 4.0 4.0 98 3NO= a4 -400 4.0 4.0 35 INN+1 +5 120 40 4.0
35 3vV+l ¢ A -170 1.0 7.0 10 4 3NO+1 +9 -430 2.0 6.0 71 INN= +3 90 2.0 6.0
98 3vV+l ¢ A -170 1.0 7.0 35 3NO+2 a4 -460 0.0 8.0 10 4 3NN-1 v5 -100 0.0 8.0
13 & KKn64 Basta kontrakt 14 & K1042 Basta kontrakt 15 «D4 Basta kontrakt
Nord v 94 54 N =650 Ost v K2 3¢ O =-110 Syd vEK 24 V =-110
Alla + E96 Ingen 41043 NS 46543
#E1074 & ¢ v & NT #8532 & ¢ v & NT #107632 & ¢ v & NT
21032 4875 N 10109 1110 a7 « DKn863 N4 4767 4 Kn9872 4 EG5 N76 555
v862 vEDKn7 S 10109 1110 v 109 v E543 S54767 v 974 vD1053 S76555
¢ K853 ¢72 023422 ¢ KD9752 +6 0896 66 ¢ E97 ¢ DKn10 06 7887
D83 #K652 V23422 #D1096 #EK4 V896 66 *E5 #Kn98 V67887
«ED9  E95 K103
v K1053 v DKn876 v Kn862
+ DKn104 ¢ EKn8 + K82
*Kn9 *Kn7 *#KD4
Par  Kontr ut Res  Poang Par  Kontr ut Res  Poang Par  Kontr ut Res  Poang
4 6 3NN+2 v7 660 8.0 0.0 8 2 3NO-3 *] 150 8.0 0.0 10 5 Pass 8.0 0.0
10 5 3NS= v8 600 6.0 2.0 46 2vS= a7 110 6.0 2.0 37 3¢S-2 49 -200 4.0 4.0
8 2 2N S +2 »8 180 4.0 4.0 10 5 4¢ V-2 vK 100 4.0 4.0 46 INN-2 v3 -200 4.0 4.0
37 2¢ N+3 vA 150 2.0 6.0 37 2NV-1 vK 50 2.0 6.0 8 2 3&#N-2 & A -200 4.0 4.0
19 44N-1 *7 -100 0.0 8.0 19 3vyDS-2 &7 -300 0.0 8.0 19 2NN-3 +Q -300 0.0 8.0
16 oK Basta kontrakt 17 4 K2 Basta kontrakt 18 «D8 Basta kontrakt
Vast v K8432 6y N =980 Nord v Kn1063 2NT O =-120 Ost v K964 34 O =-140
ov + D7632 Ingen +76 NS + K943
#D5 & ¢ v & NT #D6532 & ¢ v & NT *K62 & ¢ v o NT
41098643 4752 N 7 11128 11 46 4Knl0953 N 5 4 4 5 4 47653 & EKKn92 N7 7745
vD v 97 S 7 11128 11 v EKD7 v 982 S54455 vEKn5 v87 S77 745
+ K1054 ¢ Kn8 052152 ¢ KD1095 443 0898738 ¢+ D876 ¢ Knl0 06 6597
#32 #KKn10764 V 5 2 1 5 2 *874 *EK9 V898738 #EKn  #10987 V66597
« EDKn « ED874 + 104
v EKn1065 v54 vD1032
¢+ E9 ¢ EKn82 ¢ E52
*E98 #Knl0 #D543
Par  Kontr Ut Res  Poang Par  Kontr Ut Res  Poéang Par  Kontr Ut Res  Poéang
9 3 6y S= vQ 980 8.0 0.0 21 3vV-2 *7 100 8.0 0.0 21 3vS-1 *A -100 8.0 0.0
57 5¢v S+l «T 480 5.0 3.0 57 3¢V-1 +K 50 6.0 2.0 57 340= a4 -140 4.0 4.0
10 6 4v S+2 T 480 5.0 3.0 10 6 2¢ V= oK -90 4.0 4.0 93 24 0+1 v2 -140 4.0 4.0
21 4y N+1 a7 450 2.0 6.0 48 24 S-2 vA -100 1.0 7.0 10 6 24 O+1 Ly -140 4.0 4.0
48 7vS-1 T -50 0.0 8.0 9 3 INN-2 v9 -100 1.0 7.0 4 8 14 O+3 T -170 0.0 8.0
19 « E83 Bésta kontrakt 20 465 Bésta kontrakt 21 « ED6 Bésta kontrakt
Syd v 65 3NT S =400 Vast v 105 6¢ V =-1370 Nord v 852 4v O =-420
oV ¢ KDKn Alla ¢ DKn754 NS 49432
+KD1084 & ¢ v & NT +Kn964 & ¢ v o NT #952 & ¢ v o NT
49752 4Kn64 N 107 8 8 9 «E3 K107 N11242 aKn742 «K N2 3264
vE108 vKKn7 S 107 8 8 9 vEK864 vKn2 S11242 v E43 vD10976 S23264
4652 #98743 036544 +93 ¢ EK1062 0 1212119 11 ¢+ EKKn6 ¢ D10 O 109 107 8
#E73  #Kn5 V3654414 #EK82 #D75 V 1212119 11 *K4 #DKn1087 V 109 107 8
«KD10 « DKn9842 # 109853
v D9432 vD973 v KKn
¢+ E10 +8 + 875
2962 «103 *E63
Par  Kontr Ut Res  Poang Par  Kontr Ut Res  Poang Par  Kontr Ut Res  Poang
32 3NN+1 +9 430 7.0 1.0 32 6NV-2 +Q 200 8.0 0.0 32 4v 0= +5 -420 6.0 2.0
59 3NN+1 ¢9 430 7.0 1.0 10 7 3NO +1 4Q -630 6.0 2.0 6 8 4v O= T -420 6.0 2.0
14 3NN= +9 400 3.0 5.0 59 3NO+2 +Q -660 4.0 4.0 107 4v O = aT -420 6.0 2.0
10 7 3NS= &7 400 3.0 5.0 6 8 3NO+3 +Q -690 2.0 6.0 14 49y 0+1 *A -450 1.0 7.0
6 8 4v S-2 a7 -100 0.0 8.0 14 3NO+4 48 -720 0.0 8.0 59 4v V+1 v2 -450 1.0 7.0
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22 4 Kn9876 Basta kontrakt 494 Basta kontrakt 4 D53 Basta kontrakt
Ost v 1087 4ANT V =-630 v KKn108 2v S =110 Vast v Kn9 3v ND-1-100
ov *K + 853 Ingen + Kn7
#EKNn98 LI 'Y #E1063 & ¢ v & NT #E109763 & ¢ v & N
103 « EKD4 N45343 & K2 «D108765 N 8 7 8 6 7 s E 4Knl10962 N 7 4 8 8 5
v K42 v EKn96 S 45343 vD63 v E42 S87867 v 103 v D87 S7 4885
¢ ED8 4963 0989809 ¢+ Kn964 ¢ D10 056576 ¢+ ED98652 ¢ K4 059 458
#K7632 #105 vV 9 8 109 1 #K742  #DKn V56576 #Kn52 D84 V59458
452 & EKn3 4 K874
v D53 v 975 v EK6542
¢ Kn107542 ¢ EK72 4103
«D4 2985 &K
Par  Kontr ut Res  Poang Par  Kontr ut Res  Poang Par  Kontr ut Res  Poang
4 3 3NO-3 a2 300 7.0 1.0 25 INS+1 *4 120 8.0 0.0 61 4¢ V-3 «A 150 8.0 0.0
10 8 4v O-3 a5 300 7.0 1.0 43 24 0-1 ¢+A 100 6.0 2.0 10 8 3v S= aA 140 6.0 2.0
25 3NO-1 a5 100 3.0 5.0 79 INS= &K 90 40 4.0 25 3¢ V-2 vJ] 100 40 4.0
79 3NO-1 +J 100 3.0 5.0 10 8 INV = *3 -90 2.0 6.0 43 3vS-1 s A -50 2.0 6.0
6 1 4v O+1 ¢J -650 0.0 8.0 61 24 O= v5 -110 0.0 8.0 79 4¢vDS-2 aA -300 0.0 8.0
25 «E963 Basta kontrakt 26 462 Basta kontrakt 27 4 Kng84 Basta kontrakt
Nord v 86 4v O =-620 Ost v D6 4ANT O =-630 Syd v K52 54 V =-450
oV + D10532 Alla + 1097 Ingen 498532
KD & ¢ v & NT #ED9842 & ¢ v & NT »106 & ¢ v & NT
48 « KDKn10 N452 44 &« K97 « DKn54 N65343 41063 « EKD952 N286 23
vEKn43 vD1075 S 452 44 vE9742 vKKn10 S65343 vKnl1086 vD S286 23
+Kn86 ¢E9 08 7 109 9 ¢+ KD ¢ E63 O6 8 9 9 10 + K4 + D7 O 115 6 1110
#87653 #E2 vV 8 7 109 9 #1065 #Kn73 V689 9 10 #ED94  #K752 V 115 6 1110
& 7542 4« E1083 a7
v K92 v 853 vE9743
* K7 4 Kn8542 + EKn106
+Kn1094 &K #Kn83
Par  Kontr Ut Res  Poang Par  Kontr Ut Res  Poéang Par  Kontr Ut Res  Poéang
81 24 S-1 v3 -50 8.0 0.0 54 4v V-1 T 100 7.0 1.0 8 1 24 S+3 3 200 8.0 0.0
36 INO+2 a2 -150 5.0 3.0 81 340-1 *4 100 7.0 1.0 36 44 O+1 a7 -450 4.0 4.0
54 INO+2 *] -150 5.0 3.0 72 340= &K -140 4.0 4.0 54 44 O+1 +J -450 4.0 4.0
72 2vV+2 &K -170 2.0 6.0 36 3vV+l 46 -170 2.0 6.0 72 464 O+1 *A -450 4.0 4.0
10 9 INDO+2 #J -580 0.0 8.0 10 9 3NO= *4 -600 0.0 8.0 10 9 3NV +2 v2 -460 0.0 8.0
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